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£ R mm 3,260
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2 U] mn 1,090
ANYRH—R mm 2,025
b S 1 Dl 1995
BEARE(HWEAD500m) e 2,000 YNALNBABEE m 4,050
B K # 5 ( & #%# ) m 3,000 wWE (KA —ILAX—RX) mn 1,400
Sy | A E 2B m 150 JOYRA=—N=NYT m 430
BE o@m 2 5 m 210 BEE(LR) Ail i mn 900
TJx— (R XBXES) m 920X 122X 36 ® ®om 885
74— HAEREBBAEER m 275~960 - = K m 105
VAMEREE [ @ S % B 2= 6/10 “lwm BE Hh ® om 115
8 & B m/s 630 fl % 22 1/4x7 1/2-15/550
= E
TREE % & @ B we ess | | VIR g ® 17 3/4%6 1/210/500
N a T B /s 450 g > W F kg -
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TREE 2 & & B ws 500 REEER Ty 3,330
L J9F1&  kn/h - IVIv
%(gﬁi)’g i B [759F2R  m/h - 2 = 2 n 4D94LE
SEP 17.0/16.5 fa B = 4/3,052
L J39F1&  k/h - KW/rpm 46.3/2,450
t(;;g;f Bk [J5vF2E  mn - z d = . 63/2,450
AR NEPEL 16.5/16.5 _ Nm/om 186.3/1,800
= 4 X ~ b 7
= A2 (BT 2 5 v F Nkef) - ke:m/om 19/1,800
= NEPI 16,700(1,710) ®m N8 5 v o B B 40
ISYF %(m - 55 A EEERTR
B E BE EINS
BABRENAFRE) L3> wm 340188 | |2  m -
RANVE B ¥ (& 5% /) m 1,980 Al L] F % Y E m -
£ B B A & K 8 mm 2,090 EmEE 7 > v F ke -
ERERBBND BBEE ™ 3710 I -
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il JUTb
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B )\ 5FU—XTx—TU T
WEEET
A—h— ~N5T4—2
BU5( B6FB-R10 6FB-R15
mR K @& = kg 1,000 1,500
R K B & m 3,000 3,000
& /\E ¥ ¥ &R m 1,320 1,560
S = m 1,790 2,055
2 ] m 1,090 1,090
S = Jun 2,260 2,260
) = ke 1,970 2,230
BER
Q@4ERERFND )\ T—EV NIRRT«
WEEET
A—H— N5+ —2
B3 cisin] @4
N v ha g m® 0.31
B K @ = kg 720
&/ B & ¥ & mn 2,050
%z & mn 2,845
%z & mn 1,530
£ = mn 1,925
& = kg 2,260
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